

2019 Washington Street, East Charleston, WV 25305 Telephone: 304-558-2306 General Fax: 304-558-6026

Bid Fax: 304-558-3970

The following documentation is an electronically-submitted vendor response to an advertised solicitation from the *West Virginia Purchasing Bulletin* within the Vendor Self-Service portal at *wvOASIS.gov*. As part of the State of West Virginia's procurement process, and to maintain the transparency of the bid-opening process, this documentation submitted online is publicly posted by the West Virginia Purchasing Division at *WVPurchasing.gov* with any other vendor responses to this solicitation submitted to the Purchasing Division in hard copy format.





# State of West Virginia Solicitation Response

Proc Folder: 1050053

Solicitation Description: ADOBE CREATIVE CLOUD MAINTENANCE AND SUPPORT

**Proc Type:** Central Purchase Order

 Solicitation Closes
 Solicitation Response
 Version

 2022-06-07 13:30
 SR 1400 ESR06022200000007609
 1

**VENDOR** 

VS0000036994

PLANET CELLULAR INC

Solicitation Number: CRFQ 1400 AGR2200000030

**Total Bid:** 38284 **Response Date:** 2022-06-02 **Response Time:** 15:19:16

Comments: na

#### FOR INFORMATION CONTACT THE BUYER

Crystal G Hustead (304) 558-2402 crystal.g.hustead@wv.gov

Vendor

Signature X

FEIN# DATE

All offers subject to all terms and conditions contained in this solicitation

 Date Printed:
 Jun 7, 2022
 Page: 1
 FORM ID: WV-PRC-SR-001 2020/05

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	Adobe Acrobat Pro MLIC for Teams	33.00000	EA	180.000000	5940.00

Comm Code	Manufacturer	Specification	Model #	
43230000				

Commodity Line Comments: 2R1-3275-V3-

30BC03A12

Acrobat Pro DC for teams Multiple Platforms Team Licensing Subscription Renewal Monthly Renewal 1 User

Level 3 50 - 99 (VIP Enroll. ID Required)

Adobe Inc. - 65297930BC03A12

65297930BC03A12

#### **Extended Description:**

Adobe Acrobat Pro MLIC for Teams

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
2	Creative Cloud Team All Apps	19.00000	EA	981.000000	18639.00

Comm Code	Manufacturer	Specification	Model #	
43230000				

Commodity Line Comments: 2R1-3281-V3-

42BC03B12

Creative Cloud for teams All Apps ALL Multiple Platforms Subscription Renewal Monthly 1 User Level 3 50 - 99 1 Month Level 3 VIP (VIP Enroll. ID Required)-12 Month Term

Adobe Inc. - 65304042BC03B12

65304042BC03B12

#### **Extended Description:**

Creative Cloud Team All Apps

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
3	Creative Cloud Indesign	2.00000	EA	415.000000	830.00

Comm Code	Manufacturer	Specification	Model #	
43230000				

Commodity Line Comments: 2R1-3211-V3-

50BC03B12

InDesign for teams ALL Multiple Platforms Subscription Renewal Monthly 1 User Level 3 50 - 99 1 Month Level 3

VIP (VIP Enroll. ID Required)-12 Month Term

Adobe Inc. - 65304050BC03B12

65304050BC03B12

#### **Extended Description:**

Creative Cloud Indesign

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
4	Creative Cloud Illustrator	1.00000	EA	415.000000	415.00

Comm Code	Manufacturer	Specification	Model #	
43230000				

Date Printed: Jun 7, 2022 Page: 2 FORM ID: WV-PRC-SR-001 2020/05

Commodity Line Comments: 2R1-4210-V3-

52BC03B12

Illustrator for teams ALL Multiple Platforms Subscription Renewal Monthly 1 User Level 3 50 - 99 1 Month Level 3

VIP (VIP Enroll. ID Required)-12 Month Term

Adobe Inc. - 65304052BC03B12

65304052BC03B12

### **Extended Description:**

Creative Cloud Illustrator

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
5	Adobe Sign for Business Licenses	35.00000	EA	356.000000	12460.00

Comm Code	Manufacturer	Specification	Model #	
43230000				

Commodity Line Comments: 2R1-3296-V3-

15BC03A12

Adobe Sign for business ALL Other Multi NorthAmerican Language Enterprise Hosted Subscription Renewal Monthly 1 User USER Level 3 50 - 99 1 Month Level 3 VIP (VIP

Enroll. ID Required) - 12 Month Term Adobe Inc. - 65305615BC03A12

65305615BC03A12

**Extended Description:** 

Adobe Sign for Business Licenses

FORM ID: WV-PRC-SR-001 2020/05 Date Printed: Jun 7, 2022 Page: 3



Department of Administration **Purchasing Division** 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

#### State of West Virginia **Centralized Request for Quote** Info Technology

**Proc Folder:** 1050053

**Reason for Modification:** 

Doc Description: ADOBE CREATIVE CLOUD MAINTENANCE AND SUPPORT

ADDENDUM 1 TO PROVIDE ANSWERS TO

VENDOR QUESTIONS

**Proc Type:** Central Purchase Order

Solicitation Closes Version Date Issued Solicitation No

2022-06-07 13:30 CRFQ 1400 AGR2200000030 2 2022-05-31

#### **BID RECEIVING LOCATION**

**BID CLERK** 

DEPARTMENT OF ADMINISTRATION

PURCHASING DIVISION

2019 WASHINGTON ST E

CHARLESTON WV 25305

US

#### **VENDOR**

**Vendor Customer Code:** 

**Vendor Name: Planet Cellular Inc** 

Address: 2114 N Flamingo Rd #1150

2114 N Flamingo Rd #1150 Street:

**Pembroke Pines** City:

**USA** 33028 Country: Zip: **Florida** State:

**Andrew Smith Principal Contact:** 

305 440-6259 **Vendor Contact Phone: Extension:** 

#### FOR INFORMATION CONTACT THE BUYER

Crystal G Hustead (304) 558-2402

crystal.g.hustead@wv.gov

223919201 Vendor 02 June, 2022 andreusmith

Signature X FEIN# **DATE** 

All offers subject to all terms and conditions contained in this solicitation

FORM ID: WV-PRC-CRFQ-002 2020/05 Date Printed: May 31, 2022 Page: 1

#### **ADDITIONAL INFORMATION**

THE STATE OF WEST VIRGINIA PURCHASING DIVISION FOR THE AGENCY, WEST VIRGINIA DEPARTMENT OF AGRICULTURE, IS SOLICITING BIDS TO ESTABLISH A CONTRACT FOR ADOBE CREATIVE CLOUD SOFTWARE MAINTENANCE AND SUPPORT PER THE ATTACHED DOCUMENTS.

\*\*\*QUESTIONS REGARDING THE SOLICITATION MUST BE SUBMITTED IN WRITING TO CRYSTAL.G.HUSTEAD@WV.GOV PRIOR TO THE QUESTION PERIOD DEADLINE CONTAINED IN THE INSTRUCTIONS TO VENDORS SUBMITTING BIDS\*\*\*

INVOICE TO		SHIP TO
AGRICULTURE DEPARTMENT OF		AGRICULTURE DEPARTMENT OF
ADMINISTRATIVE SER	VICES	INFORMATION TECHNOLOGY DIVISION
1900 KANAWHA BLVD E		163 GUS R DOUGLAS LN, BLDG 1
CHARLESTON	WV	CHARLESTON WV
US		US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
1	Adobe Acrobat Pro MLIC for Teams	33.00000	EA	180	5940

Comm Code	Manufacturer	Specification	Model #	
43230000				

#### **Extended Description:**

Adobe Acrobat Pro MLIC for Teams

INVOICE TO		SHIP TO	SHIP TO		
AGRICULTURE DEPARTMENT OF		AGRICULTURE DEPARTMENT OF			
ADMINISTRATIVE SERVICE	S	INFORMATION TECHNOLOGY DIVISION			
1900 KANAWHA BLVD E		163 GUS R DOUGLAS LN, BLDG 1			
CHARLESTON	WV	CHARLESTON	WV		
US		US			

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
2	Creative Cloud Team All Apps	19.00000	EA	981	18639

Comm Code	Manufacturer	Specification	Model #	
43230000				

#### **Extended Description:**

Creative Cloud Team All Apps

INVOICE TO		SHIP TO
AGRICULTURE DEPARTMENT OF		AGRICULTURE DEPARTMENT OF
		INFORMATION TECHNOLOGY DIVISION
1900 KANAWHA BLVD E		163 GUS R DOUGLAS LN, BLDG 1
CHARLESTON WV		CHARLESTON WV
US		US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
3	Creative Cloud Indesign	2.00000	EA	415	830

Comm Code	Manufacturer	Specification	Model #
43230000			

# **Extended Description:**

Creative Cloud Indesign

INVOICE TO		SHIP TO
AGRICULTURE DEPARTMENT OF		AGRICULTURE DEPARTMENT OF
ADMINISTRATIVE SERVICES		INFORMATION TECHNOLOGY DIVISION
1900 KANAWHA BLVD E		163 GUS R DOUGLAS LN, BLDG 1
CHARLESTON	WV	CHARLESTON WV
us		US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
4	Creative Cloud Illustrator	1.00000	EA	415	415

Comm Code	Manufacturer	Specification	Model #	
43230000				

# **Extended Description:**

Creative Cloud Illustrator

INVOICE TO		SHIP TO	SHIP TO		
AGRICULTURE DEPARTMENT OF		AGRICULTURE DEPARTMENT OF			
ADMINISTRATIVE SEF	RVICES	INFORMATION TECHNOLOGY DIVISIO	١		
1900 KANAWHA BLVD E		163 GUS R DOUGLAS L BLDG 1	N,		
CHARLESTON	WV	CHARLESTON WV			
US		US			

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
5	Adobe Sign for Business Licenses	35.00000	EA	356	12460

Comm Code	Manufacturer	Specification	Model #
43230000			

### **Extended Description:**

Adobe Sign for Business Licenses

# SCHEDULE OF EVENTS

<u>Line</u>	<u>Event</u>	Event Date
1	VENDOR QUESTION DEADLINE	2022-05-31

	Document Phase	Document Description	Page 5
AGR2200000030		ADOBE CREATIVE CLOUD MAINTENANCE AND SUPPORT	

### ADDITIONAL TERMS AND CONDITIONS

See attached document(s) for additional Terms and Conditions